xF E & B KR ® MM ¥ ® F

BFTETHLA
F£HH RS TEEM |RERGIOFAE([HEK)| EB(kg)| BHEWM) | FEM) | REWME) ik No.
R7.71 LA At BY = o
R7.71 |I2ALA A Y = @
R7.7.1 |ZIF5 a5 #3Y -
R7.71 |1E<E0 &% #Y = ®
R7I71 |Fv~_y & Y = @
R7.7.1 |[RoLovty A Y = ®
R1.71 [RE(H) il Y — K ®
RIIA |hZ &% %Y = ®
R7.71 |LAZ & Y = @
R7.7.1 |&®3Y(X—3—) 4 Y 502
R7.7.1 |Zw3Y a5 #3Y 11.0
RI7.1 |mMEBe 4 7Y 10 ®
R171 [mEbe At Y = )
R1.71 |9 &% #Y =
R1.7.1 |k<k B By 4 @
R7.7.1 [r=b Ak Y = @
R17.1 |E—=v &% Y = @
R7.7.1 [£535CL it Y = ®
R7.7.1 |SVPLAITA At Y -
R7.7.1 |AFZESD FRhE) Y 0.2
R7.7.1 |ZEE®D &% Y -
R7.7.1 [MAL& F4 Y 5
R7.7.1 |hALE AaE Y -
R7.71 |IEhisLs #4fE By 10
R77.1 [[EhiLs a5t By =
R7.71 [S&LME aF iy -
R7.7.1 |f=Fh# &% i) = ®
R7.7.1 |&ELWM=ITF F4 Y 0.1
R7.7.1 |#LULM=1F &% Y -
R7.71 [ZDELET &% iy -
R7.7.1 |A%EL&OHL FohE #iY 0.1
R7.7.1 | A7EL&HL =1 ) -
R7.7.1 |5t Y 11.0
R7.7.1 |#&&t+ 0] 11.0 iR RE
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2 % B R % M & @® & F

SRTETALA
FHH RS TEEHN |FEMGIOFE| H=2W [E2B(kg) | BEFE) PiEA) RIE (M) & No.
R7.7.1 |[EWZA dtimE A%t 6.5 10 1350 1188 648 ®
R7.7.1 |[FEW\ZA i Haxt 5.9 10 1404 1080 648 ®
R7.71 |FEWZA &t Haxt 12.6 @
R7.7.1 [I2ALA dtimE At 10 @
R7.71 [IZALA & At 10 @
R7.7.1 [IZALA |F kel 9.0 @
R7.7.1 |ZI1F>5 BE A%t 04 10 4104 4104 3780
R77.1 [Z1F5 = kel 10
R7.7.1 |ZI1F>5 Ait At 0.4
R7.7.1 [lE<&ELy R kel 15 ®
R7.7.1  [&<ELY CH At 9.1 ®
R771 [FrRwy BE Fipor 14.0 10 1080 1080 648 @
R7.7.1 |Fv¥AY R HAxt 6.9 10 1296 864 648 @
R7.71 |F+~_Y &t kel 29.1 @
R7.7.1 |RoL2V™ BE At 05| —%& 162 97 92 ®
R7.7.1 |RoL2v R kel 01| —% 108 ®
R7.7.1 |RoL2V™ B/F At 0.7 ®
R7.7.1 |[R&E (F) el kel 05 —x 162 140 86 ®
R7.7.1 |[RE(A) R HAxt 1.1 5 2808 1404 1296 ®
R7.71 [fa& &it kel 2.9 ®
R7.7.1 |LAR K% HAxt 11.0 10 1177 1177 788 @
R7.7.1 LA &it kel 11.0 @
R7.71 [Ep5Y(X—3—) FrE At 01| 50K 2484 864 756
R7.7.1 [Ew3Y(H) iz Haxt 3.6 5 2484 1944 1620 ®
R7.7.1 [Ep3Y(H) B8 At 5
R7.7.1 [Ew5Y &it kel 10.1
R7.7.1 |hEbe fidc] HAxt 0.7 10 3240 2700 2160 [©)
R771 [DFEe BRS Haxt 10 [©)
R7.7.1 |hEbe B/F At 1.0 [©)
R7.7.1 |9 (4&) e Haxt 0.4 5 2160 1944 1080 ®
R7.71 B3 (&) R HAxt 24 4 1404 1296 864 ®
R7.71 |B5d (R) HE Licks] 4 ®
R7.7.1 |53 Ait At 38 @
R7.7.1 [r=k dtimiE Haxt 28 4 1620 1080 (W)
R7.7.1 |k=h fidc] At 14 4 1512 1080 972 (1)
R7.71 [k=h aF kel 4.2 (W)
R7.7.1 |E—<> R At 17 015 108 103 @
R7.7.1 |[E—=> &it kel 1.7 ®
R7.7.1 |&585CL R At 0.9 5 1404 1296 1188 ®
R7.71 [£535CL FE kol 10 ®
R7.7.1 |&585ACL A|F At 44 ®
R7.7.1 S0V AIFA &5 kel 0.1 2 3240
R7.7.1 [EPVAITA Ait At 0.2
R7.71 |RFEFED il kol 0.3 0.2 259 259 194
R7.71 |ZEFED A&t At 0.3
R7.7.1 [DAL& il Haxt 5
R7.7.1 |hAL&L A|F At 2.7
R7.7.1 [[EhirL& il Haxt 40 10 2808 1944 1836 ®
R7.71 [[Ehi L& Ait At 43 @
R7.71 [&&ELVE =I5 Haxt 0.5
R7.7.1 [&&ELV BR Aaxt 0.2 05 270 238
R7.71 [&ELVE aF Haxt 0.3
R171 |f-Fh® I Fizpoi 8.2 20 3024 2700 2376 ®
R7.71 |f-Fh&E &t A%t 86 ®
R7.7.1 |£LWM=1+ FE Aaxt 04 0.1 184 119 108
R7.7.1 [£LLM= A&t Haxt 0.5
R7.71 [ZDELT RH Aaxt 08 02 59 59 56
R1.71 |ZOELT aF Aaxt 08
R7.7.1 |A7EL&HL R Aaxt 0.3 0.1 68 68 38
R7.71 [ 37%L&HL il Haxt 0.7 0.1 56
R7.71 [57%L&HL Ait At 1.2
R7.7.1 |& ko) 118.9
R7.7.1 |#%t ko) 118.9 iR RE
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T ®E & H K m M OB & & F

SFTHETHLA
F£HH8 B FTEEH |FEWMSIOAE|HEK) 2H (ke)| HEM) o {E (M) ZIE (M) &%
R7.71 |YAT &t Y -
R7.7.1 |33 &t Y -
R7.7.1 |44 5] Y 0.5
R7.71 |F44 &t Y -
R7.71 | RES At Y = ©)
R7.7.1 |L\6LL FhiE Y 0.35
R7.7.1 [L\5LEL At Y -
R7.7.1 [AB(F—LR) B By 8 @
R7.71 |AB &% ) = @
R7.7.1 |$ UL yh (FEi) FhiE Y 15 ®
R7.7.1 |3 L v At Y = ®
R7.7.1 &t Y -
R7.7.1 |#a&t Y - iR RE
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F E & B Kk % i B #® & #F

BFTETALH
F£/H mf TEENH |FEWMSIOAE| #$EW |28 ke)| SEA) & (M) Z{E (M) %% No.
R7.7.1 |YAT (P3F3T—ILF) |55 Lisbol 2.2 10 6,156 5,940 4,860 ®
R7.7.1 [YAT(5L) Ll A% 3.7 10 8,100 5,940 5,400 ©)
R7.71 |YAZ (¥F/d—ILR) [FF& Lizks 1.1 10 5,400 5,184 5,076 ®
R7.71 |YAZ L Lisbsl 7.0 @
R7.71 |£3% I Lizks 05 5 5,940 3,564 2,160 @
R7.7.1 |3% L Lisbsl 0.5 @
R7.7.1 |§4% [ITE1] Lizks 0.5 05 454 410 378
R7.7.1 |§4% FhhE Lizks 0.1 05 454 432 378
R7.71 |F44% L Lisbsl 0.6
R1.7.1 | ARES(FIIIT) AT ks - 0.3 ®
R7.7.1 | RES(EIE) I A% - 035 ®
R7.71 | RES = X 1.2 ®
R7.7.1 |L\6LL FrhE A% -| 035
R7.7.1 [LvbLEL = X -
R7.71 |[AR(FZ—ILR) Frhe A% 0.4 8 18,360 9,180 3,996 @
R7.71 |*AY = X 0.9 @
R7.7.1 |F UL yh (BEtth) FE A% - 15 ®
R7.7.1 |9 L vh (FEHE) Lz Lizks) - 15 ®
R7.7.1 | F UL yh (FEtth) fEIN A% - 15 ®
R7.7.1 | L yvh (FEtth) FrhE A% 0.4 15 )
R7.7.1 |F UL yh (BEtth) F50 A% 0.7 15 ®
R7.7.1 | L v = X 5.9 ®
R7.7.1 |it Lisbs) 16.1
R7.7.1 |#a&t Lisbs) 16.1 i RE
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